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6,1 14: a=lima, £BL. = Kk

23,19 a = a,

.25, 1150 |z + |w| = |z — v

52,12 2L =0 = %L(2) =0

0zo

.66,110: T,, =T,

.66,176: DiF.... = feO(D)23%. DiF...
67,1 10: {3, — K, feOoD) T 5.
68, 113: BIE = BIE, fe oD)ITHL

.69, | 12: BIBIE = B f(2) &

75, L4 XD = kb, feo(D) L

.85, 110: vg = 29

87,18 U =1U

.89, 1 14-16 (4» Fl): g(z) = h(z)

.90, 1 8: limy oy f) = f = limy o f) = 0
115, L 7 u(z) = u(z) 222 f(a) =0

164, 113: @ = Q

C168, 1 2: 2 = 3, ¥

L 172, 1 8 GEvcawg) ¢ sin 30 = cos 30
.210,17: D; = D

. 221, 1 10: RIZIHS = HIkR

252, [ 12: 2z Wl <= w FIH (RHR)

. 286, 1 3: (i) = (ii)

. 289, T 4: ATHAICERD 1 F C 0L & D LOfEtiEL § 5.
.324, | 11: 1950 = 1951

IER



25.
26.
27.
28.
29.
30.
31.

p.325, | 2-3: (b;r) = (b;s) (3% FlN)

p.361, 14: 4 > |g(2)| = 4 = |h(2)]

p.361, 1 4: 4l = 3 1A

p.361, 1 2: 128 — 256

p.361, T 1: (2) {5 = (g) 0 U8 oZEEFHZ <~ “75”)
p.361, 1 1: (h) 7 = (h)
D.364, | 6~ 8: 8 DEEMREIUCHE LR

ETE 8.4.39 DAEFHF D hy(2) % Py L go(2) € O(D) T—HEEML,
[ha = g2llp, < 1/2 &L, ha(z) DD DI x2(2)he(2) FHEDH I,
ho(z) := ha(z) — g2(2) 2S5, FEANCIFHND h,(2) 1L gu(2) €
O(D) % |[hy = gulls, , < 1/270 22D, hyu(2) = hu(z) = gulz) &
L.



